

(h.5) Zbog stojaj stojaj stojaj stojaj

110

Pr. 4.33 | Ako je  $X \sim B(n, p)$  i  $Y \sim B(m, p)$ , te  
su  $X$  i  $Y$  nezavisne,  $X+Y \sim B(m+n, p)$ .

Dokaz | Neka su  $X_1, X_2, \dots, X_{m+n}$  nezavisne i i.i.d.  
 $X_i \sim \binom{1}{p}$ ,  $\forall i$ . Za  $X := \sum_{i=1}^n X_i$ ,  $Y := \sum_{i=m+1}^{m+n} X_i$ ,

imamo  $X \sim B(n, p)$ ,  $Y \sim B(m, p)$

mp. 1  $IP(X=k) = IP\left(\sum_{i=1}^n X_i = k\right) \stackrel{X_i \in \{0,1\}, \text{ te } (X_i): \text{ njei}}{=} \binom{n}{k} IP(X_1=1, \dots, X_k=1, X_{k+1}=0, \dots, X_n=0)$

$= \binom{n}{k} IP(X_1=1) \dots IP(X_k=1) IP(X_{k+1}=0) \dots IP(X_n=0)$

nezavisnost

$= \binom{n}{k} p^k q^{n-k}$ ,  $\forall k \in \{0, 1, \dots, n\}$ .

$X$  i  $Y$  nezavisne jer  $X = g(X_1, \dots, X_n)$ ,

a  $Y = h(X_{m+1}, \dots, X_{m+n})$ .

Nadalje,  $X+Y = \sum_{i=1}^{m+n} X_i \sim B(m+n, p)$ .

Pr. 4.34 | Ako je  $X \sim P(\lambda)$  i  $Y \sim P(\mu)$ , te su

$X$  i  $Y$  nezavisne, unjedi  $X+Y \sim P(\lambda+\mu)$ .

Dokaz |  $X, Y \in \mathbb{N}_0 \Rightarrow X+Y \in \mathbb{N}_0$

$\forall k \in \mathbb{N}_0$ ,

$IP(X+Y=k) = \sum_{i=0}^k IP(X=i, X+Y=k)$

$= \sum_{i=0}^k IP(X=i, Y=k-i) \stackrel{Y \in \mathbb{N}_0}{=} \sum_{i=0}^k IP(X=i, Y=k-i)$

"kompozicijna formula"

Interijera:  
Zbog njezih dokaz  
Pr. 4.33

$$\begin{aligned}
&= \sum_{i=0}^k P(X=i) P(Y=k-i) \\
&= \sum_{i=0}^k \frac{\lambda^i}{i!} e^{-\lambda} \cdot \frac{\mu^{k-i}}{(k-i)!} e^{-\mu} \cdot \frac{k!}{k!} \\
&= e^{-(\lambda+\mu)} \cdot \frac{1}{k!} \underbrace{\sum_{i=0}^k \binom{k}{i} \lambda^i \mu^{k-i}}_{= (\lambda+\mu)^k} \\
&= e^{-(\lambda+\mu)} \cdot \frac{(\lambda+\mu)^k}{k!} \quad \square
\end{aligned}$$

Корније данас видјети болји начин преко  $f$ -је извођења.